A KL e 1 +=
1. & % 4 3. FEME K OFER
g\%mﬁfﬁ FEREEAM T KEER LERTEGE s g g r
2. FEEFT (W4) 4. FESERHR
M B, C, DB Z#HET & [ AM64E10H31H

EREICAR D AL, TRED & B T,

/A o D B - o4 BoF AL
AL H 53 i 64 8H 8H R 9FE 04y
Big el 715,000 4
AN == 650,000 M
A L H 01 = %2 =
(K AFneR 780,000 740,000
Az T () 1,050,000 740,000
(B =—7 > R —&tEBAT R e R
i O R GRS AT 1,650,000 [
B T7T—%77 800,000 [
(BR) SR SR R P R e R
(R MR G BT 1,500,000 749,000
(BR) TR 7 4+ — T A &R e R
(R) BRETFT 3,540,000 e pIES
TH/KRR GBI R e R
—AREE LT B D L & Rt & R e R
BK) vT7477v=27 750,000 700,000 e
LoF & A

722U, R E BN YN E B2 IR BUREE & L TR SN D NS UG IHE BB Y T 5
W NE L @Ma LR e+ 5,




A O0F v kR W R FE

1. F ¥ %4

SR6HEE  EREEHM T AESG LRt E5RT

2. FHEEPT

B[ M H#EB, C, DB EdnHT £ [¥

3. FEME K OFER

EBERT

4. FIETHMIR

SFN64E10H 31 H

5. MERKE LI-FHH

HFABRERITEE 1 6 75860 2FHE 1 HEESBEOHTEICL A,

ERRICR 2 R Y ok, Fico By T,
HOFE E B B B R S 64 8 H 8H FEr 9FE 04y
WOFE E B OB 5 At o BT % 5
it & i % 715,000 M ( HEBik = 650,000 ) M
0 i = 1R

KR >4 FT70=7 650,000 % AL

v & H

HE A L% %{%*L%%ﬁkﬂ‘é

722U, EREEBICHE B S AHE B2 R PUEE L LTRSS NS UG HE BRI S 95

% AL &K 4 KR vTa4TFT70=07 PERLIR E (A% 715,000
% AL o & g0 0 HH BRI AE 650,000
TH 2 BiAH 24 %A 65,000




A L e I &
1. & ¥4 3. FHEME K O]
AFN6 AR A o E R A PR S AR ¥WZRt
2. FEEIT (W4) 4. FHETERIR
FE i ] SRTH2H 28 H
RIS D ALOREIZ, TR LY TT,
N o N S - B4 BoF AN AL
A LB K S 64 8H 8H THT 9 54
¥ ol K 26,675,000 [
A FL F b & 24,250,000 H
A L = T S o2 [
FSEME () REIE 23,500,000
(BR) N2 aREE R
[ERSLE (BR) REPE & 23,000,000 % AL
TYTR (BR) (RESE BEB
(BK) top Rl B AL 26,000,000
IV =

FUCTHE PN VYN B 2 AABUERE L L TRRS LD NS OB BRI AR S 47
%

=77 L., k4%
TR LSRR T 5,

AR L




A L e I &
1. & ¥4 3. FHEME K O]
AFN 6 AEEE FEARET VR, B R A Wyl
2. FEEIT (W4) 4. FHETERIR
FE i M {H B B AR — 3 SH6E12A27H
RIS D ALOREIZ, TR LY TT,
N o N S - B4 BoF AN AL
A AL A 153 o 64 8J1 8H FRT O9BE1 04y
T OE K 1,155,220
N R I 1,050,200
A L # o1 [H % [E]
(BR) = o A AR AT 923,000 % L
() BHBBE 7" R OHIRE 3EFT 980,000
(BR) 7 3 ¥ EilmE 2T 962,000
I MU ZERE () GHIEZERT 1,064,000
EiERES (BR) 950,000
B) oL 960,000
IV =

7-72L. Eid&%kA
B INE U=k % AL ERE LT 5,

FICTHE B M OV M B IH B B 2 AR BUTRHE L L TR S M D NS UG H B BUBRICH Y 5




A L e I &
1. & ¥4 3. FHEME K O]
N6 AR HT BRI e T TARTH
2. FEEIT (W4) 4. FHETERIR
I 4 Sk FHRETAR TR SH6H12H9H
RIS D ALOREIZ, TR LY TT,
N o N S - B4 BoF AN AL
A AL A I o 64 8J1 8H FRT 9B 54y
S R =S i T 4 1,397,000 [
A FL F b & 1,270,000 H
A L H T S o2 [
EHHEEH () 1,390,000 1,310,000
F) =7 1,400,000 1,300,000
) =2~ 1,380,000 IR
BR) ~vo~ 1,380,000 1,300,000
(BR) /N[ BEOB R
(BR) R TEL 1,350,000 1,270,000 % L
TRPIRAH () 1,420,000 IR
(k) B A7 1,370,000 1,290,000
(H) #Ed 1,400,000 e &
(H) = 1,410,000 IR
IV =
2L, BRI E RN O EIH BB e IRBUEE & L TR S D N E UG THE BB S 975
A L emaBleme 35,




S~
=+
[
R

SE

1. & ¥4 3. FHEME K O]
S%%ETE THUER B  FAKEEAR LF 2L G T
2. FEEIT (W4) 4. FHETERIR
S IS o 6411 H29H
RIS D ALOREIZ, TR LY TT,
N o N S - B4 BoF AN AL
A AL A 153 o 64 8J1 8H FRT 9BE2 04y
S =R i T S 1,892,000
A FL F b & 1,720,000
A L # o1 [H %2 [
BN TE (%) 1,740,000
(k) == 1,720,000
(BR) ~v v~ 1,750,000
PR (1K) 1,700,000 % AL
HEhmdak T¥E () 1,780,000
(k) B A7 1,730,000
PRV (BK) 1,800,000
IV =

zrZL, bk

RLAREH
BN L@ eEilems 35,

FICTHE B M OV M B IH B B 2 AR BUTRHE L L TR S M D NS UG H B BUBRICH Y 5




A L e I =
1. & ¥4 3. FHEME K O]
T 6 BHIUAMT R E T ELF
2. FEEIT (W4) 4. FHETERIR
H7 PN — SRTHESASLH
RIS D ALOREIZ, TR LY TT,
N o N S - B4 BoF AN AL
A AL A 153 o 64 8J1 8H FRT 9BE2 54y
S R =S i T 4 2,697,200 [
A FL F b & 2,452,000 H
A L H T S o2 [
(BR) ~v v~ 2,650,000
BN TE (%) 2,450,000
Az T () 2,600,000
() oA 2,550,000
(F) mAEL 2,500,000
) PHkA 7T R 1,752,000 % AL
A =T 7 2,400,000
IV =

=721, Ei&e
BAENE LT=4

FUCTHE PN VYN B 2 AABUERE L L TRRS LD NS OB BRI AR S 47
MZUALSRE T D,




